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Class 7

Important Instructions:

Name of the Candidate (in Capital Letters):

Candidate Signature: Invigilator’s Signature:

All questions carry equal weightage.

10 minutes are provided for filling the OMR sheet and reading the instructions.
Exam duration is 1 hour only.

Please ensure that this question paper has 50 questions. It is divided into the following
sections —

For class 1st to 5th: Mathematics, Science, English & General Knowledge

For class 6th to 10th: Mathematics, English, Science, General Knowledge & Logical
Reasoning

Every question has one correct answer.

Please read the instructions for answering given on the OMR sheet. Candidates must
submit a completely filled OMR sheet before leaving the hall.

There is no negative marking.

SPECIAL INSTRUCTIONS:

OMR sheets will be processed by electronic means. Invalidation of answer sheet due to
incomplete/incorrect filling of the answer sheet will be the sole responsibility of the
candidate.

Candidates must completely fill their Hindustan Olympiad roll number (not school roll
number), class, stream (for class 11 & 12 only).

Do not write or mark on this answer sheet outside the demarcated areas.

Multiple answer markings are invalid.

Candidates must consult the invigilators to get the OMR sheet details cross-checked, in
case of any doubts.

An example is given for correctly filling the OMR sheet.



| Duration: 1 Hr | Date: | No. Of Questions: 50 | Max. Marks: | Class: 7

Section A: Mathematics

1.

The value of 32 — 22 =
5 4
3322 =1gH
5 4
A 12

B. 3
C. 1-

D. 1—

Find the value of 312 + 3.012 + 0.312 + 3.0012.

312 +3.012 + 0.312 + 3.0012 T UM J1d PO

A. 318.3252

B. 9.4452

C. 944.52

D. 3183.252

The number of boys and girls in a class are 20 and 16 respectively. What is the
probability of selecting a girl?

TP D& H AsP 3R TSB! ! TAT HHI: 20 3R 16 T | TSB! b T B GHIGAT
T g2

A. 4/5

B. 5/4

C. 4/9

D. 5/9

The temperature of Shimla was -10°C on Monday. The temperature dropped by 4°C on
Tuesday. On Wednesday, it rose by 8°C. What was the temperature of Shimla on
Wednesday?

TR BT Ao JHaR &1 -10 FSH ARy 41| #TaaR &1 argaH 4 feit Sfemw
d% TR 711 gUaR &1 I8 8 f&$U TRy 9¢ M1 §UaR & FRrdr &1 dradH faa
Yr?

A. 6°C

B. -6°C

C. 2°C

D. -22°C

A bird can fly at 21 km per hour for 4 hours, then at 19 km per hour for 3 hours. How
much distance can be covered by the bird in total?




T geft 4 9 & farw 21 fpt ufd € &) ToaR @ IS Tt g, fhr 3 6 & forw 19
foreft Tfdl € &1 IAIR F1 Uaft gRT ot foat g3t 7 Bt Sl Hebell 62

A. 141 km

B. 140 km

C. 11.58 km

D. 280 km

. Mehul sells a computer for *14,400. He loses 25% in the bargain. At what price did he
buy the computer?

TG 314,400 H T ST 991 g1 T8 iaamol H 25% BR ITdl § | 39 HELR Bl
g ®iad R B

A. 3,600

B. 18,000

C. 19,200

D. 32,880

. A shopkeeper boughtg kg of potatoes. He packed them into packets each containing g

kg of potatoes. How many packets of potatoes did he make?
Teh GhTER A  fohall i1 Wdler| 38 35 — febefm e aret Uebe & Ueb fopar |

tﬂﬁﬁo—dﬁ% 3T §FTT?

A. 55

B. 6.5

C. 15

D. 35

. The height of 12 students in a class was recorded (in cm) as follows:
134,154, 142, 136, 134, 141, 148, 151, 154, 142, 154, 141

Match the columns:

Column | Column 11
(i) Mean (w) 142 cm
(i) Range (x) 144.25 cm
(ili)  Median (y) 154 cm
(iv)  Mode (z2) 20 cm

TH HeTH 12 B Bl Hdls (TH H) Eﬁfﬁﬂé%ﬁ
134, 154, 142, 136, 134, 141, 148, 151, 154, 142, 154, 141

PiaH & o FHarg:
Picd | cactal
(i) A1 (w) 142 THT
(ii) 2oft (x) 144.25 I
(iii) AT eraRT (y) 154 T4t
(iv)ggdP (z) 20 THt




A. (i) = (y), (i) — (w), (iii) — (x), (iv) — (2)
B. (i) — (x), (i) — (y), (iii) — (w), (iv) - (2)
C. (i) — (x), (ii) — (2), (iii) — (w), (iv) — (y)
D. (i) — (w), (i) — (x), (iii) — (2), (iv) - (y)
9. The average of three numbers is 11x. One number is 3x and the other number is 9. What
will be the third number in terms of x?
9 =it T 3T 11x B | Toh TRSAT 3x § 3R U<} A1 9 B 1 x & ey & st
e T g
A. 19x-9
B. 3(10x-3)
C. 7x-9
D. 2(15x —4)
10. Which fraction is greater than 110 but less than i?

P o2 A ot 3, A LA IR

o0 ® >
JENIRLIE
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Section B: Science

11. After completing one hour, consider the tip of the minute hand of the clock.
A. The average speed of the minute hand is zero.
B. The distance covered by the minute hand is zero.
C. The displacement of minute hand is zero.
D. None of these.

Teh °c RTHRA & 91G, Tl o (5 b B I Al W [daR B

A. e g1y &t Sirga i I R
B. Mgy g &I gl
c. fire g1y &1 fawmo= Y B
D. STHIAPIE a1
12. Which process crosses two varieties with different characters to obtain a new variety?
A. Selection

B. Introduction
C. Hybridization



13.

14.

15.

D. Conservation

T3 fhe Ut B & forw faf¥rer guif & 91y ol T ufshar &l foeeAl &1 IR &l 82

A. T4

B. UR=g

C. &

D. TR&fUr

Identify the correct process related to soil formation.

A. ltisa fast process.

B. Big stones are mixed with humus.

C. Plant roots play an important role in the formation of soil.
D. Rocks break down by the action of heat, water and wind.

rg & Fmfon  afird we) v & vgar |

A. T T ol Uish T 5 |

B. §3 TR &I ggHY & A1y fArama Sirar g |

c. Uidf ot ors firgt & fmfor & Aecgut YfieT Ry g
D. TrﬁffqﬁeﬁTBaTﬁoquls@rng;‘d\ﬂldl%l

Ovules develop into seeds after

A. Fertilisation

B. Pollination

C. Photosynthesis

D. Germination

e & a1e el § R g g1
IBLES
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FehTR] HRAYUT
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of urine is passed out from the body of a normal adult in 24 hours.

A. 2 liters

B. 1-1.8liters
C. 1.4-2liters
D. 1.5 liters

24 G § U WU G0 o IRR I T PT BEASESIGI

E. 2R
F. 1-1.87McR



16.

17.

18.

19.

1.4 -2 TR
H. 1.5 TR

and are formed in a neutralization reaction.
Acid, salt
Acid, water
Water, base
Salt, water

3R TP SR UfafbaT A sd 8|

A. TS, 9%
B. TRys, Ut
C
D

@

o0 w»

. O, SMUR
. \THD, U
What is the name of separate part of stomach in grass-eating animals?
A. Cud
B. Sac
C. Rumen
D. Intestine

U WA aTe SFaR] & ¢ & 3] fgs &7 1 919 22

A B
B. ¥

C. AU

D. 3HId

What is the effect on water absorption through roots when a plant is kept under a fan?
A. Water absorption will increase.

B. Water absorption will decrease.

C. No changes

D. Water absorption depends on the climate.

e UIe) &1 U & 12 3T STl g ol STs| & ATEH I UM &b [a=yol UR T GHTS
USdIg?

A. OTd S{aRIY0T S|

B. Sl SARNYUT & BT ST |

C. IS Sqaid gl

D. SId SNl Tearg W AR R |

Which hydroxide is present in window cleaning liquid?



20.

Sodium
Magnesium
Ammonium
. Calcium

IS TwIE R & D T TR IS ANE 62

A. aifsaq
B. THIRR™H
C. i aH
D. dfeRroH

Ascorbic acid is the scientific name of
A. Vitamin A

B. Vitamin B
C
D

COw>

. Vitamin C
. Vitamin D

T ifde RIS H1 IS A |

Section C: English

21.

22.

23.

Choose the odd one out.

A. Unemployed

B. Unrealistic

C. Unmature

D. Unbelievable

Which sentence shows the correct use of ‘to’?
A. Everyone takes birth with to hands.
B. This bag is to heavy.

C. We are going to visit a museum.

D. Children play to park.

Fill in the blank with a suitable verb.
Hema the job offer.

A. accepted



24,

25.

26.

27.

28.

29.

30.

B. excepted

C. had accept

D. except

Change the voice.

He does not tease her.

A. She was not teased by her.

B. She is not teased by him.

C. She did not tease him.

D. Itis sure that she will not be teased.

Give one word substitution for the expression given below.
A government by a king or queen.

A. Democracy

B. Plutocracy

C. Aristocracy

D. Monarchy

Which of the following sentences is grammatically correct?
A. Each student and every principal is invited.

B. Each student and every principal are invited.
C. Each student and principal is invited.

D. Each and every student is invited.

Nitish hasn’t seen her last year.

A. for

B. since

C. in

D. to

Find the antonym of the word: Augment

A. Elevate

B. Amplify

C. Decrease

D. Aggravate

Fill in the blank with the correct subordinating conjunction.
Complete your homework you forget.
A. or

B. lest

C. when

D. otherwise

Which of the following are not relative pronouns?
A. who, which, that

B. whom, whose, these

C. when, where, who



D. whom, which, where

Section D: General Knowledge

31.

32.

33.

Which famous musical producer, table player has been awarded multiple awards like the
Padma Bhushan and Padma Shri?

A. Asad Ali Khan

B. Zakir Hussain

C. Ravi Shankar

D. Hariprasad Chaurasia

fora v, it e, dae are® &1 uar Yuor SR UaT #ft S ®5 RSN 9

g
E

T

Who is the first Indian woman to win a silver medal at the Olympic games?
A. Jwala Gutta

B. P.V. Sindhu

C. Saina Nehwal

D. Ashwini Ponnappa

eIt Wal | I9Td U Sitaq dTelt Ugall HRad Afgdl B 82

SaTdT el
. dtdr Ry
13T Agard
. SR g

Who is the first music director from India to win Oscar award?
A. R.D. Burman

B. llayaraja

C. A.R.Rahman

D. Naushad

3HR REHR Siia- aTd YR & Ugd Tiiid A= & 82

A. 3R St gHA
B. SARTGI

OO0 w >




C. U3R.IgHH
D. XS

34. Who is considered to be ‘Father of the Indian Constitution’?

35.

36.

37.

A. Lal Bahadur Shastri
B. Jawaharlal Nehru
C. Sardar Patel

D. B.R. Ambedkar

P8 YR TG BT S AT SITaT 872

A. T S8TgR el
B. SdTeR A1d Hg%
C. WER U

D. &.3R. WISH

Name a plant that does not have leaves but has flowers.
A. Cactus
B. Khejri
C. Rohira
D. Hingot

TS T UIY HT A 93¢, /s o< 781 81, dfd Ba gld ]

A. Hacy
B. Wolel
c. fger
D
W

. feme
hat 1s the approximate length of giraffe’s neck?
FORTH &1 TG B SFIHTA dals fha-T 87
A. 3cm
B. 2m
C.3m
D. 2cm
Silkworm eats leaves.
A. Lettuce
B. Mulberry
C. Dry
D. None of these

WP gt QT 2 |
A. BTg




B. XEdd

c. g
D. STHYDIS Q!
38. Davis Cup is related to which sport?
A. Cricket
B Badminton
C. Tennis
D Hockey
Sfog oy foog Ta 3 Iefda g2
A Topde
B. dsfieT
c. <9
D. gl®!

39. Which device is used to locate submerged objects under sea?
A. Sonar
B. Transmissometer
C. Cytometer
D. Profilers

TG & - STaHy axg 3 &1 udl T & TS for uahRur &1 SUaT fasa i 82

C. IRpEd
D. WWhsaR
40. India's Best FIFA rank of all time is__
HRA $T 3(d dF B YI9F BIBIIF __ ©
A. 95
B. 96
C. 94
D. 97

Section E: Logical Reasoning



41.

42.

43.

44,

In the figure given below, the triangle represents boys, the square represents teachers and
circle represents computer. Which portion of the figure represents boys who are computer
teachers?

4 feu e sipe |, A ! o1 ufafAfia wrar g, ol et &1 ufafAfda
FRAT © 3R T HECR HI UG BT 8 | 3BT BT DI AT HF I ASH! Bl
gfafAferea wxar g St e e g2

D E

OO wpy
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Mitesh is facing south. He turns right and walks 20 m. Then he turns right again and
walks 15 m. Then he turns right again and walks 50 m. In which direction is he now from
the starting point?

o g & SR 4g dRer Wel ¢ | 98 al¢ gdT § 3R 20 Hiex gadi g1 R a8
iR ¥ a3 3R gedi 8 3R 15 Hiex Iedl ¢ | i a8 i I 318 3R gedi 8 $iR 50
ez IadT 8| 3T foig &1 gaq § Iue! fown o g2

A. North

B. South

C. East

D. West

Find the percentage increase in the area of the square, if each of its sides is increased by
15%.

't & & & Ufa=Id 9fg &1 UaT Ay, afe S8 U &l H 15% &1 gfa 85 &

A. 32%

B. 32.25%

C. 33%

D. 33.5%

Find the odd one out.

fqwe &) ggam |

14, 28, 35, 43, 63, 84

A. 63

B. 14
C. 43
D. 84




45.

46.

47.

48.

49.

The smallest number added to 3423 makes the number completely divisible by 6. Find
the number.

3423 T Qe BIC! T 6 I T R I faUTsT 6= &1 I &1 6 |
BT J1d BT

Al

OO w
BN W

The product of two numbers is 14 and their sum is 5. What is the sum of the reciprocals
of these numbers?

3l TS BT IUFTE 14 § 3R SHH1 A 5 81 39 G-l & YRR &1 TN 31
87

A
B.
C.

D. —
14
Replace the question mark with a suitable letter according to the pattern.

U & IR UY g &1 T Iugad 3R J 9|

WTROM?

A K

B. L

cC.J

D. |

‘MCRTD’ is coded as ‘MDRCT’. What will be the code for “WATER’?
‘MCRTD' ! ‘CMRDT' & &0 § HIfSd faran T g1 ' WATER ' & folT 1S m ghm?
A. AWTRE

B. RETAW

C. WRTAE

D. WTARE

Which face is opposite to the face with alphabet C?

DI T 38R C & i g2

A. B
B. D

ag|zE|ein



50.

C. F

D. E

Product of co-prime numbers is 156. Their L.C.M. is
A. 156

B. 1

C. SameasH.C.F

D. Cannot be determined

TE-3HHTST TeAT3f &1 UM 156 § | 3P TYTH THITY §

A. 156
B.1

C. HE<H YU & THM §
D. fRufia 781 frar st a8



